
 

 

GREEN D 
1) 

 

 

23 x 23 

2) 

 

 

230 x 2.3 

3) 

 

 

What is 2 ÷ 8? 

4) 

 

 

A £14 bill is split between 5 people. How much should each person pay? 

5) 

 

 

How long is the journey from Maybole to Barrhead? 

 
 

6) 

 

 

Paula has 40 sweets. She gives 15% of them to Mat and ¼ of them to 

Laura. How many does she have left for herself? 

 

 

7) 

 

 

Michael buys 7 printer cartridge costs £29.98 each. What is the total 

cost?  

 

 

8) 

 

 

Garth runs a paintballing centre in Burngreave. The cost is £32 per 

person per hour. 15 friends play for 2 hours. Garth pays 30% of his 

taking to the owner of the centre. How much does he keep for himself?   
 

 


